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int main(void)

{
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int main(int argc, char *argvl[])

{
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1) int wa(int x,int y)

{
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int z;
Zz=xty;
return z;
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/* prog3—1.c */
#tinclude <stdio.h>

int main(int argc, char *argvl[])

{
printf ("arge OfEIZ% T3, ¥n”, arge);

printf (Targv[0] 3 L CWA XFEINL T v 7T L4 T%s) T3, ¥n”, argvl0]);
printf (Targv[1] 38 L CWAXLFEINIE 1 7o 7T L5158 %) T3, ¥n”, argvll]);
printf (Targv[2] 23 L CWALFEINIE 2 7 7T A5|%8 %s) T3, ¥n”, argvl2]);

return 0;
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/* prog3—2.c %/
#tinclude <stdio.h>

int wa(int, int);
int sa(int, int);
int seki (int, int);
int shou(int, int);
int amari(int, int);

int main(void)

{

int x,y;

printf ("1 S HOEHA A LTIZE N )
scanf ("%d”, &x);
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printf ("2 D> HOBHA A LTIZE N )
scanf ("%d”, &y);

printf ("%d + %d => %d¥n”, x,y,wa(x,v));
printf (“%d — %d => %d¥n”, x,vy,sa(x,y));
printf ("%d * %d => %d¥n”, x,y, seki(x,vy));
printf("%d / %d => %d¥n”, x,y, shou(x,v));

printf ("%d %% %d => %d¥n”, x,y,amari(x,y));

return 0;

int wa(int a, int b)

return atb;

int sa(int a, int b)

return a-b;

int seki(int a, int b)

return a*b;

int shou(int a, int b)

return a/b;

int amari(int a, int b)

return a%b;
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void wa(int a,int b)

{
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wa(x,v);

printf("%d + %d => %d¥n”, a, b, ath);



